$$f(x,y,z) = Y = \sqrt{x^2 + y^2 + z^2}$$

$$\frac{3r}{3x} = \frac{1}{2x^2 + y^2 + z^2} = \frac{x}{\sqrt{x^2 + y^2 + z^2}}$$

$$=\frac{1}{2}\hat{r}=\hat{r}$$



$$3) \vec{\nabla} = y \hat{x} - x \hat{y}$$

$$\vec{\nabla} \cdot \vec{V} = \frac{3(y)}{3x} + \frac{3(-x)}{3y} + \frac{3(0)}{3z}$$

* Evaluate the curl of the following vector fields:

$$= (\frac{35}{35} - \frac{35}{35}) + (\frac{35}{34} - \frac{3x}{35}) \hat{3}$$

$$\vec{v} = x \hat{y}$$

Z made with

$$3 \quad \tilde{v} = -y\tilde{x} + x\tilde{y}$$

$$= (0)\hat{x} + (0)\hat{y}$$

$$+ (1--1)\hat{z} = 2\hat{z}$$

Show that
$$\nabla(fg) = f \nabla_g f g \nabla f$$

$$\nabla(fg) = \frac{2}{3}(fg) \hat{x} + \frac{2}{3}(fg) \hat{y} + \frac{2}{3}(fg) \hat{z}$$

$$= \begin{bmatrix} g \partial f & + \frac{2}{3} \partial f \\ \hline g \hat{x} & + \frac{2}{3} \partial f \\$$

$$\vec{\nabla}(\frac{f}{g}) = \frac{g\vec{\nabla}f - f\vec{\nabla}g}{g^2}$$

$$\overrightarrow{\nabla} \cdot (\overrightarrow{A})$$

Show that
$$\overrightarrow{\nabla} \overrightarrow{X} \overrightarrow{\nabla} \overrightarrow{F} = 0$$

$$= \left(\frac{335}{34} - \frac{353}{34}\right) \times \left(\frac{325}{34} - \frac{34}{34}\right) = \frac{3}{3}$$

$$+\left(\frac{3f}{3x3}-\frac{3f}{3y3x}\right)\hat{z}=0$$

$$\vec{\nabla}(\vec{\nabla},\vec{\nabla}) = \vec{\nabla}(\frac{3\sqrt{x}}{3x} + \frac{3\sqrt{y}}{3y} + \frac{3\sqrt{x}}{3x})$$